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101|R#A7 L 412 132 280| Kg |&)I 1,620 378| 2,484 540
102|357 L 1,532 1532 Kg FiE 1,566 648
111|&EEF £ 343 22 321| Kg |A% 1,188 BRE - &4 1,728 346
113|RAV S 3 3| Ke FfE 2,700 1,944
114|B5EFE 213 213|  Kg E)Il - &E 21,600 864
15[ 1= 2 2| Keg FfE 3,780

117[1E 577 128 449 Kg |EE 2,916 756 fEE 3,780 54
121|rblE &€ 10 4 6| Keg |EE 1,404 35 864 648
134[#= = 500 301 199| Kg |EE 2,000 540| £ 2,376 1,620
137|&FE5 < 1 1 Kg K5 4,266

140(5 I 18 18] Kg FE 114,480 16,200
147|EZ O 83 9 74| Kg |k% 9,180 5,940 048 - R 12,960 3,500
158|&FEN A IEH 269 269| Kg R 1,944 1,080
201{Lvb L 384 384| Kg Ri% - T 486 300
203|/hd L 111 111| Kg =5 351 270
205|3.3 L 528 528| Kg B4 936 695
206| = 1F 696 696| Kg KI5 540 281
207|= A K 32 32| Kg imE 729

208| Mo % 328 328| Kg ML 1,512 432
210{1F AL 458 294 164| Kg |EI& 4,320 1,620(1i0) 4,050 1,350
212|&5E.3 Y 43 43| Kg =40 2,160 1,404
222|052 450 450| Kg T 396 288
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252|LWAEXECA 157 75 82| Kg | 2,624

254|EDT2ELCAH 609 609 Kg 1,998 864
303[A 27z 50 50 Kg 972 864
315|7: b5 6 15 15| Kg

3191 h o 1,188 141 1,047 Kg |BIR 864 1,728 1,100
3321 WA =EF 172 172] Kg 2,160 1,944
35411FxE<Y 104 100 4 Kg |FFE 1,080

355(mp Y 200 5 195| Kg [EA 1,188 1,620 108
356(L L& 65 65| Kg 1,512 972
357|7RE 11 11| Kg 1,782 1,728
358|KE 35 30 5[ Kg |EA0 1,080(%

401|H W 98 9 89| Kg [xE 1,512|4% 2,160 1,512
4025 E 120 120] Kg 5,778 4,536
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BERHLATWD 27 27| Kg 73 1,197

Jasy by (AN 70 701 Kg JtiF 1,400 594
RGBT AV 145 145| Kg 73 4,320 1,260
SE WA AE 10 10| Kg JtF 1,050

i 80 80| Kg Eles 1,242 972
MR Z 325 325 Kg 3 3,275 1,030
RS S 50 50 Keg F 1,080
mRTYE 100 100 Kg JtF 540
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70110 BA 2,079 587 1,492 Kg |[&EE - X% 3,613 1,361 (&= 4,320 1,620
709|Lb LALF 4 4 Kg TFE 1,044
710(2 2 AT 17 171 Kg Ko 2,052
BlEFAI L 64 64 Kg SR 1,553 780
755|FH&» C 429 429 Kg EE 771 710
7611 b BHAEL 12 12 Kg & 2,893
801 [3BAT = 1S 180 180 Kg bEE - mA 2,484 1,350
802 1 330 330 Kg blo ] 1,296 1,242
805 = 1E 224 2241  Kg bF 972 702
807 [1BHDF 12 12 Kg JbiF 5,076
810|FAKF 142 1421 Kg bF 2,246 1,035
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